2023 REFHFFER HF1ET KX FAR
fhx MERW (2H 18 D

L St | 4
B i e &
1 =<4 —Tary 2%
mel VY a2m P o [ 4 oem | Y ox o7 o2s
wel 4 v ow oo |0 woam w3 (Y w2k
us| 2 SEBBoRBAL, EL LOBBEE BT LA BT BT LBTE
hrEZONRSG, 3R
Nat
175
2] [fg ] TA] Y1 (5] T 15
i 2 7 1R
ms| 'V m@EkF EFET) 28 Y Y&
[ 4 T 1R 5 7. Ul e 28
el 7T A= 2R M7 A 2R
[ 8 Eft 28 | BT
ol ® — B - FK - F — H 2K =&
et
178
(3] 1 A 2K
i 2 REEE 18| eeme | #H R 3 71
Mal BEOEK: BT TEigm) ROEK : BE4EX%E 2R
o 5 7 1K T WAEMTO2R, EHE6N—FHEMTALR
e (1) %77 5 —DZFANEDEBEBDE = LT, X 77 5 —DRMESARHHE
D, Xv 5 —BHEFLOEY BFRAHTS, 2E 3R
mel (2) T 1M
R 7 T 2X
B EE C. ERNRITET 5 AR AT k& & B0 812 D . AT DR)E CAH C& 5 7 —
MRV ERITTEIX Y R—VEEET D, BGFEOT LY —22FBHALT, 8EHTHET AV —
b—a v EHETAEERTS., Y 3R

k/NEE, SRS B EEA LW &

/Nt
165




HOINEE K R ENCIAIXKLLE - -1 <K HE EMEE (x| ofE)
]
<t %
2= | P~
— ol

+ P E|E 12} —la | A X |R|H|E|H| K| S|
=1

Wl v D N O R | e | M| 0 |2 O VIO
oo 1%
El | HeE <EQ | s [ w8 ] WEO 0P QU EO°
L0 4 10 1 1017
=] H ER Ay g4 ™~
o o o1
GER ® =< P~ RN gAY
00 112
E+ | H ' 2ITEIRIZG|IRIV|ILX|ID|V|IWIE IR 0| 0
[ 1]
E | ~ER 4V dai
20 AR ST RS T /2 (R I T S I VAN [ I L
zl e £ £ N (N S g & |86 ¥ z
2| @ 3 O ] 0 R
=2 0 ¥ SR Y 9 A

Ha e BT VR < e )Y

HE i

e
R
B
HX




2023 1 KRFEHEHFK BE1MET FAVAMAR - B 1070 —00 AR

O pEsRs QA 1H D

%% S i i i < I R
wEEs | /0 0 1 &

o BT RNTMEMIITAT AL,
o fRBHMDAREIZIIAEE NN &,
o BRIz EHEEN LN &,

1. (55 x 6 = 30 ) 3. (5F x4 =20K)
(1) 2023 (1) | i 3
(2) 5100 fffild 3.5
(3) 2 (2) 1
(4) 1 (0.475) (3) 58
(5) 2 4. (55 x 4 =20 )
(6) 2000 o8 (1) 75
2. (555 x 6 = 30 ) (2) 90
(1) 17 (3) 20 5
(2) 1560 M (4) 17 )
(3) 11 f

(4) | W 12 km

(5) 10 0

el
Tir

100




20234 KFEHMFHHZE HBIETRAVRAIAR BR (2818487 BER)

XRES K %

B FE 5 £3

M MERT R IMEMICEAT S L,

A O AP ILE AL ICHEA LT L,
cEAMICIEMbRE AL WD &
ml & . S Z ORI E
% B fie & TALARWN DL
® A v e 2
H:Hl @ T 2
©) 7 2
1
2 16 g 3
M 3 360 g 3
M4 8 c m 3 15
L /= e S /= e 6235
f 1 fie % - SR ZNIQY) 2 H KR @ A
2 ® 2
3 ® 2
2 (1) A4 -7 B3
i gn 16.25 g 3
R 4 (2)
SKINO) 56 0 cm? 3
(3) = RxVF— - KEKNRL 3 20
MmMHTED>L D 7 2
M1
(= AR A (WO = 2
2 T ua g g vy 2
3 R9 3 7 2
ﬁﬁﬁl N 2
S A BN - 4 2
M 5
Pl * .7 A3 15

JC I < 50




